


























1. Answer the following questions : 1x10=10

O

(@

()

(c)

oHITAR] Te

If f:R— R is defined by f(x)=x*-3x+2, find F(f(x)).

1

M o f:ﬁ?%ﬂ? g @ aevE T = @ f(x):x2—3§c-+2,
et f(f(x)) Sferedi

What is the domain of the funci:ion cosec! ? |
T cosec™lJ Wﬁﬁﬁf ﬁ??

i 3 2 | Lol
Find X, If ¥ = XY = :

in Y [1 4} and + [_ 3 2} 1

I y:[S ﬂ i 2X+Y=[_31 g},'wmxﬁaW@mﬁn

(@

1

Let |A] =k If B is the matrix obtained by interchanging two

rows of A then |B|=? b N e

@iz |A|=k ©% B CTIETRCB! A 401 190 Serwily SR coiat 7',

28T MATH
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e) Find adjA when A=

adj A @’l%'_i\?ﬁT,_?[ﬁA=[

sk

23 i.
1 a4

I (f/  Which one of the followihg is true ? For the real function

| et
f(:x)z{x-z if

xéll I
x>1

(i) fis continuous at all real numbers x> 1 and x<1

(i) fis continuous at all real numbers x>1

(iii} fis continuous at all real numbers x<1

(iv)' fis continuous

amwmﬂéwmﬁmm

x+2 @
T e

oo (! B STy ?

at x=1.

x<1
x>1

) T x> 1 O x< 1 (DAl FCEN IV FRAK QA TR

(i) TR f R A R x> 1 T A SRR

(i) T £ AT UG IR x0< 1T WA wiKfomm

(iv) .Wf x=1 Reqe s |
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{g) What are the order and degree of the differential equation

@)l |

' ; 3 _
Ly), 2 2Y] o e e e S fl
3 =+ X F =] o mi ‘i‘fﬁ_ﬁw%; D |

(h) Find the unit vector in the direction of the vector 545 where
d=2i-j+2k and b=-i+j-k. Xk

(53T d+b 0% 4375 (O3 B 21, T a=20 - j+2k uie

-~

AL

() What is the vector equation of the line passing through the
points (-1, 0, 2) and (3,4, 6) _ 1

-10, 2) W '(3, 4, 6) 9 OIS oA (AR ([T Wﬁ e 5

73 ?

(i What are the direction cosines of the normal to the plane

z=27 R . % i

z =0 WG faEa et e

28T MATH | gy

2. Let L be the set of all lines in XY-plane and R be the relation in

L defined as ;
R={ly, 13 : 1 is para].ﬁlel to lp}.

Show that R is an equivalence relation. Find the set of all lines
related to the line y=2x+4. 3+1=4

AR L, XY TS 4! TN ([ 72 | L eforsie R el G 40
R={(ly, lg) : I, OF I, TN } | MYeH @ R G5l TG0 379 |

y=2x+4 (U4 F9[C TIHIE FICEN mﬁm%c‘w ot

OR/ &%

Show that f:[-1,1]> R, given by f(x)= xg is one-one. Find
- | - i X+ S -

the inverse of the function f: [_— 1, 1]—} Range f. _
2 2+2=4

' cwem @ f:[-L15R, f(x)- Wﬂiﬂsﬁ:
Foe f':[wl, 1]- Rangefmf%ﬂ%'%_eﬂ ﬁ“fﬁ_ﬁ'l
"3l Prove that . i ; e | 4

ﬁﬁt?faf«?r &

e («}1+ \fl -x|_z l o
J1+x++41—x
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. OR /934l
Show that e _ 1
el @

14 164

et 12
—+4cos —+tan —=x
sin 13 co 5 3 |

Express the following rri‘atr:i{x as a sum of a symmetric and skew-

symmetric matrix. : : 4
S
=2 Lk
A S 2

Wﬁﬁaﬁaﬁ&ﬁlﬁaﬁ@waﬁﬁwwmmﬁmﬁ

3. 3 -1

Lo R

S 5
OR /&33!

: = G : 1+42n -4n . :
IfA':[Sl i] then prove that A”=[ . 1—2n:| Wherf;nmany
positive integer.

. 3 __4 ; : E n_1+2n_4n 3,_\3 Lﬂm
__ ?{ﬁ ‘A =1Z T J (oA T @, AT _H.[ e ' n b 4IEF

o A |

28T MATH [6]

4 .

, d2 o i
If x2/3+y2;3 =a2,f’3’ find Ez . I . 4

d’ A
A 123 4y _ o2 (or _g———dxg Ref 4

3

OR /994

2

Ky =(m””1 -’5)2, show that (1+x2)-2~ﬂ+2x(1+x2)%-.42 =0.

d_x2

Ty y=(tanf1¥)2, e @ (1+x2)2 ‘%+.2x(1+x2)—3—xg-—2=0_.

‘State Mean value theorem and verify it for the following function :

! flx)=x? for xe[2, 4]. : : 1+3=4

T SAATOR T Bt W o RN Cs TeisthR el Sir

Fle)=x2, T xe[é, 4] |

OR / @2

Find the equation of all lines having slope 2 and being tahgent to

the curve y+ =0 ot A

Y220 T A S S el 2 Il IR I e T |

x—-3
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7. Evaluate the following integrals : 4 | 9. Solve the differential equation : ' 4

o SIHFEARET W Tt - - e _ -
: (xdy-ydx) ysin (yw):(ydx + xdy)xcos[gl
2 X X
(i) _[x(log.x) dx : . 4 : : _
OR/ &33! | WET SR T 0 TN Bferedt
xdx - Siap _ end LA [y} Yy
ly—ydx) ysin | < |=(ydx + xdy)xcos| =
J‘(J_C-— 1) (x+2) AE ' 4 i CAX _ : X
b 7 e 10. Find the area of the triangle with vertices (1, 1,2), 2, 3,5 and
- (i) I!ogsmxdx & 4 11,5, 5) | ' :
0 : : : \ » M .
_ | | | .
OR / 234l l . a5 fargem g @20l (1, 1, 2), (2, 3, 5) I (1, 5, 5) X0, fagaths S
- | el e
S il : : :
J;| x = x|dx - - A 4 _ OR / &%
| P s e e ' ¥ S o B TR 2 : 2 _
8. Form the differential equation of the family of circles touching the : Prove that (a +b ) (a+ b )=|a|2+|bl , if and only f a,b are
- y-axis at origin. s 4 : : i '
y o o Re o 791 78 AR SR AT A5 I e perpsdicular, given G20, b20. . o &
i ol R AR o ' et a @, (a+5). (a+5 )=|a|’+|b|" o iz @ 9= b ==
Solve the differential equation sec” xtanydx +sec’y tanx dy=0. . - T, % d#0, b=0.

sec? xtanydx + sec’ y tanx dy=0 S SRR Ao Tfeatt

28T MATH i (8] ' ' ' _ 28T MATH Bl ~ Contd,



11.

12.

Find the shortest distance between: the lines

F:(f-+2}+1€)+,% (f—j+!€) and

F=(2 - j-& JrpRi+j+2F). | 4

Fe(fsagek i liojik) TR

F:(Q{---j'“fe)'{'n“ (2{+}+27€)

OR/W

Find the direction cosines of the unit vector perpendicular to the

plane 7. (6f —3j-2k )'+'_1 =0 and passing through the origin. 4

T S MO @R 7 (67 -37-2K )+1=0 FWOew e 7 (o5
et Sfeveat |

A die is thrown twice and the sum of the numbers appearing is

- observed to be 6. What is the conditional probability that the number

4 has appeared at least once ? 4

<51 TRl R el 791 B W% [ARIRCS (oI@1 SR WO Goie 6 (ol

T S A G 4 FRANBH (AR ST TSHReer Fefa =)

OR / 351

Bag1 contajils 3 red and 4 black balls while another Bag II contains

S red and 6 black balls. One ball is drawn at random from one of
the bags and it is found to be red. Find the probability that it was
drawn from Bag II. = : ; ' 4

AL (TS 3B T W 45 A 7 Wi Wi B TS 551 el o

651 Fal <57 W | TBEFSIE @5t Tel R Q9 S =11 o T S
TEG! 3G (AR 9% | T TSI IR Sl Coiiig STl R <o

28T MATH = [10]

13. Solve the following system of equations by matrix method :

3x-2y+3z=8
2x+y-z=1
4x-3y+2z=4

wote WEl F=E ﬂiﬂﬁﬁﬂqtﬁﬁ e AaforE A 1 5
3x-2y+32z=8
2x+y-z=1
4x-3Yy+2z=4 |
- OR/ 9341

Show that
et @

2
x x° y+z

Y yz Z+X| (y—.é)(z—_x)(x-éy)(x+y+2)-
z z2° x+y . : iy L

14. Find the intervals in which the _functiog,___ 4
f(x)=sin3x, x < [0, g—] is

(i) increasing

(i} decreasing.

ﬁs Wﬁf@ f(x) = sin3x, _xe[O, %} T
@) mEEr
(i) - 3PN 9 2

28T MATH 0y [11]

3+3=6
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i e Lo Xy =4 U (x_2P 4P =4 4O PR e TS cwaa
e Tferedi | - '
Find the maximum and minimum values, if any, of the following
function : A : 6

f (éc)zsznchosx, Bfrner 17. Find the vector equation of the plane passing through the

EFFsi T SIRD W 7ty AW, A wieg, Tiaedl s intersection of the planes ?_(gf +2j~3k)=17, r(Q‘ +5] +3}E}:; 9 and

f(x)=sinx-cosx, 0<x<2rx ' : £he point (2,1,3). - : 6

g | L _ F.(of +2]-3k)=7 W 7.(2f +5]+3k)=0 A YU FiwH TV @
15. Evaluate f (x2 - x)dx- as the limit of a sum. 6 : _r(21 +2] Sk) ; r (21 oIy ] q
1 A -

i i (2,1,3) R e (@71 AToaTE (939 Fe SEed

Jj (-’?2 - x)dx o <GB QSR A {21 aet 3R AW Tfenedt

OR / <94t

Find the equation of the plane which contains the line of intersection

-}6. Find the area of thc_ regmg enclosed by. the parabola .x —y,_-. the_ of the plancs f-',(f+2j‘+3}€)-4 g F_.{Z' +._}_.;{~)4.5 B and e
line y=x+2 and x-axis. ' : 6 : S ) ?
' ; i ' perpendicular to the plane r(sf ¥3j= 6I€)+8 Lo 6
Wﬁi@x2='y,my=x+2ﬁ1$x—@ﬁ'm¢mﬁﬂﬁ@ﬁ@il ' |
' ' ! Fi+2j+ 3k)-4=0 W% 7.(2f+]-K)+5=0 e U PoRH A

RATER TCHA A F.(Sf + 3j- 5;E)+ 8 =0 ST HHONT B! HAGHALI
Find the area cf the region enclosed between the two circles : R ' |
_ - | | ! e Bfened |
x2_+y2:4 and (x-2)2+y2=4-» : B :

28T MATH . o 2 b 28T MATH [13] - : e Contd.



18. Solve the Linear Programming Problem graphically :

RS T v @RS Ak TR s S ¢
Maximize and Minimize z=6x+3y

> 80
x+5y > 115
3x+2y < 150

- x20,y=20.

Subject to 4x+y

z =6x+3y awmwﬁﬁﬁm%ﬁeﬁ
T 4x+y

OR / &4

Maximize and Minimize z =800x +1200y

subject to 3x+4y < 60
< 30

Xz, y20.

x+3y

z=800x+1200y T 5% I S m%ﬁmﬁ

7o |
3x+4y < 60
x+3y < 30
x20,yz0
28T MATH e e

19. Find the var1ance of the number obtained on a throw of an unbiased
die. (5)

SAEARS] Fual 9ot el SR coll TR epredl et

OR/ WWT

A and B throw a die alternatively till one of them gets a ‘6’ and
wins the game. Fmd their respective probabilities of winning, if A
starts first. 6

A S B (@ <61 57uel 3ume fee o Fosd 36 Sis (oS geid
6 2 cdeTad it Fowe i ofe AT | I 2w AEWWCW
C@‘Gtﬁﬁf'@_ﬂ@ A iy U@ Auiiel Sened |
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28T CHEM
2018

CHEMISTRY
(Theory)

Full Marks : 70
Pass Marks : 21

Time : Three hours

The ﬁgures in the margm mdtcate full marks
- for the questions. |

. General Instmctioﬁs:

@ All queétioﬁs are compulsory.

(i) Marks for each question are iﬁdi_ca-ted against it.
(ii) Answers should be specific and to the poirit.

 (iv) Question numbers 1 to 8 consist of eight very short
answer type questions and carry 1 mark each.

(v)  Question numbers 9 to 18 consist of ten short answer
type questions and carry 2 marks each.

(vi) Question numbers 19 to 27 consist of nine short answer
: type questions and carry 3 marks each.

(vii) Question numbers 28 to 30 consist of three Iong answer
type questmns and carry 5 marks each.

-
2x10-20
80F —uy
5x3 =15

Total =

- Contd.
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State whether true or false : 1
In Schottky defect, in order to maintain electroneutrality, the number of

missing cations and anions are equal.

H ¢ el Tz
F5fF @be AT 20 AT IR (RN (O % GIETE AR 0 |

Give the definition of solubility of a substance. 1
omiel GBI TRYSR ke fm |
Why is N less reactive at room temperature ? 1

A TS Nﬁﬂﬁﬁmaﬂﬁsﬂ ?

Give the structural formula of 2-Methylpropan-2-ol. ol 1
2T SMAIR-2-ST 51 ACD Tl | |

Arrange the following compounds in increasing order of their boiling
pomts ; : _ ' 1
CH,CHO, CHSCHQOH CHa~ O —ClH,, CH3CH2CH3

R GTE et Tem < SRS O -
CH3CHO, CH3CH20H, CHa‘—O_CHs, CHSCHQCH:;_._

Arrange the following compounds in the mcreasmg order of their basic
strength in aqueous solution : : 1

NH3, C;HsNH,, (Csz)z NH, (Csz)s_H

Reare Qe S aqe Py FEEH SHeR Tads AR 3
‘NHj, CHsNH,, (C,Hs),NH, (C,Hs ) H

28T CHEM i [2]

10.

11.

12.

What are essential amino acids ? _ : 1

\W‘*’iﬁﬁﬁ «fSe e f ¢

What is Chemotherapy ? _ q
i & ¢ '

Show that total vapour pressure over the solution of two quuids 1 and 2
at a particular temperature varies linearly with the mole fraction of a
component. - 2

mﬁ@mmmwﬁﬁﬁmzﬁtWﬁlmzamﬂWewﬁw
BI7 TROR b1 TARKIT T'sT SART Fo1© FATSE ©ica ARG =1

1:8g of glucose (CeH120¢) is dissolved in 100g of water in a beaker. At
what temperature will water in the solution boil at 1-013 bar ? Given

boiling point of pure water at 1-013 bar is 373 15K and K, for water is
0-052 K kgmol-1. : o

bl RIF® 100g #S 1-8g ZFE (CeH1204) E?I_W?fﬁ 1-013 bar 7®
Te 4 ARG [ Twese Tefer ¢ il ez 1-013 bar ' ﬁw ﬂﬁi’«s
TeElE 373 15K WS AN @ K, T T 0052 K kgmol-1.

Starting from the integrated rate law of a zeroth order reactiom R—HP,

show that half life time of the reaction is directly prOporhonal to the initial
molar Concentratlon of the reactant. 2

9ol X [iE, R>P, 3 Sefrs 29 @ o9 wias SR oea @
Rferaer wdGaree i ot TR slipe i |

- Answer any two of the following : : : g x2=2

(i) Why does physisorption decrease with increase of temperature ?

(i) Why are powdered substances more effective adsorbents than their

crystalline forms ?

" 28T CHEM ' s [B] s Cond,
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14.

15.

(i) Give the decreasing order of flocculating power of the following ions
in the coagulation of a negative sol.

Na', Bae AL

Nesierms Rewt 7517 Tl ol ¢ _

() T 3w A Al S St R g A 2

(i) “wDd T IR oft srl [ wlEiT deeE ¢

Gi)) AN B O SO RNING SRR S0 FIO ZPrIo! fra |
Na+, Ba2+; AlS—i— i

Mention fwo industrial applications of colloids. 2

TCS 70 SO ol Temd /0l

(i) Give the structural formula of H3PO,. ' : 1
H3PO, T %5 A6 vt |

(i) How do you account for the reducing behaviour of H3PO, on the
basis for its structure ? : 1

H3PO, Q_W%ﬁﬁ?&lﬁﬁ@?ﬁ o (P Y IR 2
Identify the major product in the following reactions :. 1x2=2

(i) CHzCH=CH,+HI—CH;CH,CH,I+CH;CHICH;

Cl Cl ' Gl
Anhyd.FeCIs @/Cl @
> 1
e Cl

(1) ' +Cl,

() = CHyCH=CH,+HI->CH,CH,CH,I +CH;CHICH,

_ a al
Anlyd. FeCl @/‘f @
il al

-0}

(i) @ +al,

28T CHEM [4]

16. Write mechanism of the following reaction : (any one) 2

17.

28T CHEM [5]

L

() CH3Cl+OH™ — CH3;OH+Cl™
ct
() CH3-CH,~CH-CH3+OH™ — CH3—-CH =CH -CH,+Cl~

v Rt iR B s (R @b
) CHCOH > CHLOH CF

Cl
) I ' |
(#) CH3-CH,~CH-CHz+OH™ — CH,~CH =CH ~CH, +Cl"

Identify the products A and B in the following reactions : 1+1=2

H,O

i CH -
@ @ 3 Clofhv - 4

B
373K :

Gi) HCHO C"""f’f" > A+B
fFesie Rismare Rieaes e A W% B e 1 8

H,0

@/CHa Clyfhy 4 5

Jpap

(i) HCHO C""CAKOH — A+B

Contd.



18.

19.

Answer any one of the following : 2

(i) What are antagonist and agonist drugs ?

'(ii) Give one example each of bactericidal and bacteriostatic

antibiotics.

Foarer R 9biT Teq &4 ¢
() iR % 25T STHEN 5 ¢

(i) @ﬁﬁm‘ﬂw 9 @EREhE afoarbes wrmniie Trige |

Answer either (a) or (b) :

(a) T4 (b)3 Tex &4l 2

(1) What are semiconductors ? How electrical conductivity of

semiconductors vary with temperature ? Give one example of

intrinsic semiconductor. 1+1+1=3

SRR ¢ AR R AR TR 7S G AR
R ? GRS SRR BT St |

OR/ =igdt

(b)) What are paramagnetism and ferromagnetism ? What ‘type of

substances would make better permanent magnets — ferromagnetic

- or ferrimagnetic ? 2¢1=3

AR S mﬁﬂ?ﬁ?f‘iﬁi ? m@qawﬁ%a@ﬁﬁwaﬁ
asﬁavfr@ m’gﬂ@ﬂmwﬁﬁﬁﬂﬂm@?’

28T CHEM o ihe g

204 @)
(i1)
21. (a)
)
22, .'(u)
28T CHEM

The rate constant for a chemical reaction at a given temperature is

2:3x107° Lmol ~'s7L. What is the order of the reaction ? 1

a5 s Teors T . ki or 29 47 (23 -
2:3x10°Lmol 57! | RiFAGR 70 & 2

Show that in a 1st order reaction, time required for completion of |
99-9% is 10 times of half life time of the reaction. 2

OrYSI! (@ 2w gR [ @B 99-9% wﬁ’aﬁawmﬁw
TG P 10\@?1@“

Name one  important ore of aluminium. Give its chemical
composition. ' ; 1

aﬁﬁﬁﬂmaﬁmmﬁaw%mmm|mmﬂq%ﬁw

Give the Mond Process for refining of nickel. 2 2

e eilgas R e et Fa

OR/ @33t
How copper is extracted from low grade ore ?

R I ST o] AT FEE ﬁm"i#ﬁa ﬂﬁ ?

What is the basic deference between a double salt and a
co-ordination complex ? i 1

wamﬂwﬁw@ i G A e

[7] | : _Confd,



(%) Give chemical tests to show that [Co(NHj)sCl]|SO, and © OR/ =

[Co(NH 3)5 50, ]CI are ionisation isomers. : 1 Do tobe react.ign A ;
- ' | @—O_.CH"‘ ethi:z;? |
[r:o(f\uars_)5 Cl]so, @ [Co(NH,), SO, JCI  wrem Faeail Ife e e e . |
(PRI SRS AR T <1 | Br, in |
, @_O_CHS oo S g
- (9 Mention one analytical application of co-ordination compound. 1 (i) Explain why alkoxy gr.oupl (-OR) is ortho, para directing and
i S W e . & activates the aromatic ring towards electropfﬁlic substimtior[.2
_ . e R (-OR) o, cwﬁqﬁtﬁm«’m%mﬁﬂﬁa
23. Answer either (a) or (b) ' : ; ?.I%ET‘?FW @ e B @ I T

(a) ST (b) T TeF fovall |

24. Write chemical reactions to affect the folIowing' transformations : (any

@ (i) Give a method of preparation of 3° alcohol. 1 three) _ 1x3=3
2O e B ol B Bl _ (i) Butan-1-ol to butanoic acid. |
' : (i) Cyclohexene to hexane-1, 6 ~dioic acid.
(ii) State the mechanism of the reaction. : 2 (i) Butanal to butanoic acid e
: ' OH ' (iv) Ethanoic acid to ethanoic anhydride. '_

CH,CH=CH, +H,0 i—;_ CH3 _SH-CHS
- b m@mmmwﬁﬁwm (ﬁmzarﬁfﬁ?r)

ficate RREmOR RFaRE B ' Y o1 (R bt e
2 S o (i) R I, 6- TR e |
CH4CH=CHj + H;0 é.CH3—éH—CH3 . A

(iv) AR afoos e GRRGREE |

| 2BTCHEM - (8] '. 0 28T CHEM _ ' g | - Contd.



25 fa) |

(b)
(©)
2%. ()
(b)
o

Give a chemical test for primary amines. 1

2B G GGt I AT T

What happens when aniline reacts with bromine water at room

temperature ? 1

it Taere GRRTE TRR AT st [ sk & e e

Write the diazotisation reaction of aniline. i 1=

qRERR TiET'sed R &

A carbohydrate (C;,H,,0:;) is boiled with dil. H 250, in alcoholic

solution to form two hexoses with the same chemical formula.
Identify the carbohydrate and the two hexoses. Give necessary

ch_emical equations. 2
B m”qi‘cw (clzﬂzzoi;) T m_ﬁq H,S0,3 T GeaAe
T INEET FEIE W (TG 1 T | SR O (I 75!
B i | eicare AR SR |

What is denaturation of protein ? -_ : g
2o Rgfors & 2

Give one example of homopolymeﬁ: and one example of co-polymer.
. : B 1
5] FARAIT W BT FRILAN Tz frai |

28T CHEM g AaY

(b)

(c)
THEg AN (HDP) I @5 A28 B 91 |
28. (a) Define standard electrode potential. . s 1
e (T Aok ket WAl
() The measured emf of the cell —
Pt(s)| Hy(g, 1bar )|H* (ag, 1M)||Cu** (ag,1M) |Cu(s) is 0-34V.
‘What is the standard electrode potential of the half cell
corresponding to the reaction ? ey
Cu **(ag, 1M )+2e~ — Cu(s)
Pt(s)| Hy(g, Lbar )| H " (ag, IM)|| Cu®* (aq, 1M)|Cu(s) | 1
R SRR fige SER R AR 084V Reste R srm
SR o TG Rew e 2
Cu *(ag,A1M)+2e” > Cu(s)
28T CHEM ' [mj | _ - Contd

Mention the structural difference between thermoplastic polymer

and thermosetting polymer. : : 1

ioeB I W ST TN o 2l B 4|

Give one use of high density polythene (HDP). 1



(c) Represent the cell in which the following reaction takes place.
Mg (s)+2 Ag*(001M)—> Mg?* (0130M)+2Ag(s) |
Write the Nernst equation and calculate the emf of the cell at 298K,
Given E; =317V. ' 1+1+1=3
e /TRl 17 (@91 @Rt BoAgrem <= ]
Mg(s)+2 Ag"(001M)— Mg (0130M)+2Ag(s)
@Wwwwmmmz%m CRIRCBI emf sioimi 1 | fra
IR ELy =317V | |

- OR/ @%!

What is battery ? Give one example each of primary 'battery and
- secondary battery. : : 1+1+1=3

O 2 2R IR o ool IR arvor iz Szt

29. Answer any five of the following : 1x5=5

(i) Explain why NO, dimerises.
(@) Why is HyO a liquid and H,S a gas at normal temperature ?

- (i) What h.appens when potassium chlorate is heated with manganese
dioxide ? ' :

(iv) What is Oleum ?
(z_)) Fluorine exhlblts only -1 oxidation state, whereas other halogens

also exhibit +1, +3, +5 and +7 oxidation states. Explain.

28T CHEM - | ' 2y

(vi) What are interhalogen compounds ?

(vii) Why the noble gases have very low boiling points ?

O fareiran #liohl e 4 2

(i) NO, I eltew 90 & TR 1

i) ARG Teete H,0 o1 % HoS 1% B 2

(iii) ﬂﬁ@ﬁ@’@% AT g sEige woe Tefte FEE & 90 ¢
(iv) w’%ﬂiﬁﬁs?

) Bﬁ’ﬁm(ﬁﬁﬂ -1 SR SR (R, 8 S C@’c@mﬂ +3, +5 W% +7
T SRENS CTYI | g ;|

(vi) SCTCEH IR & 2

(vii) T (TLIRT TS 7 7 2

Answer either (a) or (b) :

30.
(@) @194 (b) T TO T4 3
(@ () Give the general electronic configuration of d-block elements.
' ; 1
AP TR el REgTa Reop Bt |
28T CHEM Hlelos ey | Contd.



(b)

28T CHEM

(i)

(ii1)

Silver atom has completely filled d-orbitals (44'9) in its ground
state. Yet, it is considered as transition element. Why ? 1

wig TREe fRETel ARGE 4-S=Re ﬂ;wff (4d10) Tz AT | wie
B TIPS GTE @itE e B e

Cy* ion is not stable in aqueous solution. Explain. 2

e T Cu’ ion FEE W= | TG AN

(iv)

(i)

(it)

Actinoid contraction is greater from element to element than

lanthanoid contraction. Why ? ik

cﬁﬁﬂﬁﬂﬁ'@ﬂsﬂﬁ@awﬁﬁw$ﬁﬁﬁséﬁ&ﬁﬁS?ﬁGﬂﬁﬂ*ﬂﬁﬁﬁﬁ§|ﬁhl?

OR/ =ieqr

Which of the first row transition metal exhibit +7 oxidation
state ? ' : 1

sl IR TGN ST FRGIE +7 GRe SR (W4@R 2

How would you account for irregular variation of 1st and

2nd ionisation enthalpies in the 1st series of transition

elements ? : : 5

CRE m&iﬁ@mﬁa ﬁmﬁw&mmiﬁm@mﬁﬁwaﬂmﬁﬁ

SRgTReE Redy =1 /77 ¢

(4]

(iii) What are interstitial compounds ?

S (R oo

(iv) Gie two uses of potassium permanganate.

IR ARG 75! IR S 1 |

28T CHEM ' [15]



























